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Q = {[Mp-Zm]-[My-@-2m]-[M,, -2m ]}
{M, - Zm_- M, + Zm, - 2m_ - My + 2m_}c’

= {MP - Mg - MHe}Cz

a < v =] 1
dwravesiiunduauazuiavesezaeniimizudhueduy @amu) 92144
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T ] ¥
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226 228 4
Ra— Rn+ He+Q

88 86 2

i Q

Q = Mg, - My, - M, )931 MeV
(226.0312 - 222.0233 - 4.0026)931 Mev

0.0053 x 931 MeV

49 MeV

] 4
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= {MP -Zm, - My +Zm, +m, - me}cz
= {MP - MD}C2

¥ =] 1 o o
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Q
1
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H

o [ : o - = 4 a aa & o
daed et 8.2 vnmdsnugagavesdsdiumiidnnmsaaedivesdanen - 3 Gl
tow o @ 3/ as & -
wiaezaeNIAY 30.97534 tiduy aawd ladeaneda - 31 daliuda
 EABMIINTL 30.973763 10101y

70 PH 325



(]
=l
=,

£y 35 0

Si——— P+e+V+0Q
14 15 -1

a

Siumaziindanugagailewdsnuveaeu Intiing Tunagwisnuves

Woarosa - 31 whiugud

270

iiufe witaugegavesifium = Q
0 ,

Q = (Mg - M,) 931 MeV
(30.97534 - 30.973763)931 MeV

(M, - Mp) 931 MeV

[
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90 REM ¥#ikk Program 3.1 FREEE
95 REM Radioactive Decay
100 REM ***x% git up graphics characteristics *****

110 SCREEN 2 : CLS: XS=320: YO =100 : SX = 15 : SY = SXf225

150 REM *xxx* gpecify initial conditions *****

160 B = 100

170 A = 0133 : REM Activity constant for radon-220
180 DT = A

300 REM **%k** gat up screen display *****

310 Yl = 0 : REM draw horizontal axis

320 FORXl1= -110 TO 110 STEP 2

340 NEXT XI

350 X1 = 0 : REM draw verticd axis

360 FOR Yl = -100 TO 100 STEP 1.5

370 XS = XO0+8X*X1: YS = YO SY*YI| : PSET (XS,YS)
380 NEXT YI

390 REM draw coordinate grid

400 FOR XI = -100 TO 100 STEP 10

410 FOR Yi = -90 TO 90 STEP 10

420 XS = XO + SX*X1:YS=YO . SY*Yl: PSET (XS, YS9
430 NEXT Y1

440 NEXT XI

B0 = 10: rem SCALE FOR SCREEN GRID IN METERS
460 SX = 10*SX/SC : SY = SX 125

” »”

470 LOCATE 1,55 : PRINT “one unit = :SC:'s

1000 REM ***x% calculations and plotting *****
1010 FORT = 0 TO 156 STEP DT
1020 N1 = N -M*A*DT
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1030 GOSUB 3000

1040 N = N1

1050 NEXT T

1060 END

2990 REM *xxxx transformation subroutine #%kk%

3000 XS = XO + SX*T : YS= YO-SY*N : PSET (XS,YS)

3010 RETURN

one unit = [0 s
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